Aol & AL g A A
20223 = 20 & 2 BFe]
S M A D
& 0 200 MI2l+¢
2 210 M+
Ej 211 Moty O =& (cte &
SA-&-2-8-.-5 Ol &4 & E = Off A Y Hlns2
= A 15,314,576 17,649,089 A2,334,513
M= X2 ot 15,314,576 17,649,089 N2,334,513
200 MNI2l=+=¢ 3,380,000 3,480,000 A100,000
210 B4 HNA+L 3,380,000 3,380,000 0
21 e+ 80,000 80,000 0
211-02 SFMHAL U= 80,000 80,000 0
OZ23HISAE gz 80,000
212 AEEY 3,300,000 3,300,000 0
212-09 JIEtALE 2 3,300,000 3,300,000 0
OSSHSAE AMEE 3,300,000
500 X3 3,764,576 7,829,089 4,064,513
510 =12 X=8 3,656,712 7,249,384 23,592,672
511 218X =S8 3,656,712 7,249,384 23,592,672
511-02 =D L ASEIHNExS 2,321,000 2,411,000 90,000
OUGAEZ=HEH HEY 1,561,000
OHdsZddMAlIE ZEAL 310,000
Ogds Ns2 AE 450,000
511-03 Jl= 1,335,712 4,838,384 A 3,502,672
Ormx=zZzoled X 345,856
Oge dEMSXNEA i 160,776
OZe dEHSXSX B X 58,464
ooza H2HMISX =X B 87,696
oM AZ=Zx0IEA X2 17,920
OJtad s AZIA EgAY 70,000
OQISIAANOEE FAAE Ko 180,000
OdsHE3E 28 H=E= 150,000
O33HEAE WNESSA 100,000
OdSOTFE =AML HAMY 165,000
520 Al - SHIEZXES S 107,864 579,705 ANA4T1,841
521 Al - SHIEXSE 107,864 579,705 A471,841
521-01 Al - THIEX =S 107,864 579,705 AN4T1,841
OAZ=2ZH0I282d X 44,467
OdENsud 29 8,694
OdegNsZ2d 29 5,715
OoFoe M=ssotel Xa 11,068




A MEXS B

5 ¢ o500 2x2
21 520 Al -
8 521 Al - SRk
Akl B 0l ot HRE2
O o} 2,304
O o} HSXSX x| 14,616
Ot 21,000
600 XI 2 X 8,170,000 6,340,000 1,830,000
610 = Lt 8,170,000 6,340,000 1,830,000
611 Xt 8,170,000 0 8,170,000
611-02 8,170,000 0 8,170,000
Ozl 4,470,000
oF} 2,000,000
o= HS2 2 HUA 1,700,000




== A
N & o & AF & H Al A
AN HEX 0
M MEHSE 84
chelr MBS 248 CER-ED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
M= X &t 27,513,387 26,134,213 1,379,174
s 2,321,000
J| 1,335,712
< 107,864
Al 15,578,811
| 8,170,000
HEHE |4 17,517,984 17,743,769 A 225,785
s 2,321,000
J| 1,265,712
< 86,864
Al 5,674,408
| 8,170,000
MEH=s 243 2,277,648 1,661,882 615,766
J| 670,712
< 86,864
Al 1,520,072
AEXx 25 0EA XA 494,080 382,120 111,960
J| 345,856
= 44,467
Al 103,757
301 LEAF 494,080 375,120 118,960
| 345,856
= 44,467
Al 103,757
01 Al EE X =06l = 494,080 375,120 118,960
OAZ=2ZH0IEA X2 494,080
| 345,856
= 44,467
Al 103,757
MEHswsd 29 28,980 28,980 0
< 8,694
Al 20,286
307 glz2tol & 28,980 28,980 0
< 8,694
Al 20,286
02 It M AHE X 28,980 28,980 0
Odalsns 29 28,980
< 8,694
Al 20,286
MExsZz )Y 22 19,050 19,050 0
= 5,715
Al 13,335
307 21201 A 19,050 19,050 0
= 5,715
Al 13,335
02 QB AAFEX 19,050 19,050 0
OdEM=sZZIOd8 22 19,050




M MEXE 0
M MEHE 24

Ee: MEHs 245t (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
-0EolMsna(=Ss40l5t) 4,800
= 1,440
Al 3,360
HAGUMEWA(S - 1SEH) 4,800
= 1,440
Al 3,360
—ELLOHSHE 5,000
< 1,500
Al 3,500
—HEdENsUHE 2,500
< 750
Al 1,750
- S0 LAEMsUHE 1,950
< 585
Al 1,365
Aot MEHSXEX XIS EX) 321,552 300, 168 21,384
J| 160,776
Al 160,776
307 glz2+ol & 321,552 300, 168 21,384
J| 160,776
Al 160,776
02 YAFHAANPEE 321,552 300, 168 21,384
oYyt MEMSXNER I3
2,436,000& * 128 * 114 321,552
J| 160,776
Al 160,776
Hzd MEMSXZI HXIOI2EX) 175,392 163,728 11,664
J| 87,696
Al 87,696
307 glz2tol & 175,392 163,728 11,664
J| 87,696
Al 87,696
02 QB HAANGEEE 175,392 163,728 11,664
Q024 MBUSXNEX JI23
2,436,000& » 128 * 6% 175,392
J| 87,696
Al 87,696
MEHSNTR(LE, H24) BIX 2S2F (XK 154,488 73,183 81,305
al)
307 21201 A 154,488 73,183 81,305
02 1P A AL B X 154,488 73,183 81,305
OMENSXNEX M=% 109,527
- ZAg A 140,000 * 1798 * 123 28,560
-~ WS X 200,000& = 178 ~ 123 40,800
- ZE S| 600,000& = 179 * 23| 20,400
-2 65,2943 * 178 » 123 13,320




CHSXE Y
CHENE =54
P dEHs 245

SN HH-S(BN) - MBAY - B il HlnE2
ENETEEN=:
19,100& = TAI2F = 178 « 123 3,897
- I =dl 150,000& * 17 13 2,550
ONYASH SEI4E
526,783,000& * 0.5% 2,634
ogard=a ¥ NI (MY FIHE) 28,727
OMSHMSXNEA BHXAIYE 29 K& 13,600
-85 ¢ 120,000 * 804 & 9,600
sSE=S MH 50,0002 * 800H 2 4,000
MEH=sa #oF Y =X 391,200 256,470 134,730
202 Od4dl 2,400 2,400 0
01 = LH 4 bl 2,400 2,400 0
OMel=E HRF=EHL 600,000 * 4 2,400
307 21201 A 388,800 254,070 134,730
02 QAFAAFEX 144,800 22,320 122,480
O&=8 3dg & d=20s it XN 19,800
OZg & A2 AHoE=2US &It N2 5,000
OXN33z B2HHEMSUH=EHE It N2 120,000
04 DIZHHALALSE E X 244,000 231,750 12,250
OAMZEI =28 HM=U3 Mzl X 50,000
—N242 AIZI S30E 19,000
— X193 AIZD| OFCHE] 9,000
— H243 A& BHECEHS 5,000
—M63l AIZH MIA=Z03 3,000
- M413 A& HUAUS 3,000
— M6zl AIZEII 203 4,000
— XM 158 Al ZHH Il CH3 4,000
- H31a AM&EI HOIE=ZU3I 3,000
O83l&I 53¢ M=US M= X 136,000
O8.15&=2&J18 =£sdZ ZoIU3 40,000
OW MAH 2Ite & J18dAt 8,000
Ozt M=dA ALY X 10,000
2. @3A4E 532(1-210) 22 27,000 27,000 0
307 21201 A 27,000 27,000 0
04 DI2FSHALAIE 2 X 27,000 27,000 0
Q2022 & . #4249 £32(1-21) =9¢ 27,000
ZOHQl MEXMFXZX BIXI(II2EX) 116,928 81,864 35,064
J| 58,464
< 14,616
Al 43,848
307 gl2tol & 116,928 81,864 35,064




2N

=X

HE: MEHS S
S MEXNs 243 (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
Jl 58,464
& 14,616
Al 43,848
02 AI2HAAMAIEE =X 116,928 81,864 35,064
OO MEXNFXEAH JIS23
2,436,000& * 128 x 49 116,928
Jl 58,464
& 14,616
Al 43,848
Ol MENESXNEKX BHX S2SEEX(XMHA) 39,103 13,820 25,283
307 212t01 & 39,103 13,820 25,283
02 DI2ZtZ AAMEE X 39,103 13,820 25,283
OFOMO MM MY 25,273
- ZHZAH| 140,000& * 49 = 12& 6,720
- WEB XY 200,000 * 4¥ = 12& 9,600
- Y EF Iyl 600,000 * 4Y = 23| 4,800
-25Y 50,000 » 2¥ x 12& 1,200
- A2t
19,0203 * 1AIZ2F x 49 x 12& 913
- 1=yl 150,000& * 49 = 13| 600
-A&AHS =2 30,000 * 4% x 12& 1,440
OgdEsd=zs 4 e Z2 (MY FIH2) 7,200
OXMHUMEHSTASAIIAIY 2F K& 6,630
-+HES 2 120,000& * 3904 A~ 4,680
-E22 ME 50,000& * 3904 A 1,950
oo Msg2s XA 294,990 165,890 129,100
307 212t0| & 294,990 165,890 129,100
02 DIZtZ &MY E X 59,000 46,650 12,350
Os0telE83 tHa IR 7,000
- M263 =0t =3 1,500
- M293] =0t2 H=CH3l 4,000
- M133 =0t2 HOIE=ZUS 1,500
OXNMZEOMCIES a &HIIAL 4,000
-NZ2=32MEMAHOtetECHS 800
—HMAIEZE X0t EUS 1,200
- d2ZXMEMHS MU 1,000
- &= IIME HEZE S 1,000
OZYAIZHMC MU &IOLKA 3,000
OJIWCH Hal &IHAL 11,000
OM253 2 O MEMESUHS &ILXA 20,000
OHM42s &= EXM=sUz HFIHAE 6,500
OM163 &= HOHSMHAN=UE HILXNEH 3,500
OXOHC MAHCHS ZIHAIA 1,000




M MEXE 0
M MEHE 24

chelr MBS 248 (S5 &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OF=HMAE & NMALd=ZHSE JaI Z&3 3,000
03 A EES2LHIES 141,990 94,040 47,950
OZHAI LM =FS AFR= 21 24H](3Y) 117,406
-JlEs € M=+¢ 96,440
—HERY3 U NNYI 20,966
OZHAZMHAM=ESE AMR= 24 22,114
OHHAIZMHAH S MR= HE Sel=4H| 2,470
04 DIZHHALALSE E X 94,000 25,200 68,800
OJtYErX tHal =l 28,000
OX8al HollAl ZOHA M= Nzl 36,000
ORM3zl ZoiAl ZoHeloi=a2I1Ual Mzl 23,000
OZHAZOHAME Alafal & M=zl 2 Of
eS| 7,000
ol M=ssotel X 31,099 31,262 A 163
= 11,068
Al 20,031
307 glz2tol & 31,099 31,262 A 163
< 11,068
Al 20,031
02 It M AHE X 31,099 31,262 A 163
OXeIdEsotel XA (ZHIEX) 31,099
= 11,068
Al 20,031
ol AZ=AH083 XA 25,600 25,600 0
J| 17,920
< 2,304
Al 5,376
301 LA S 25,600 25,600 0
J| 17,920
< 2,304
Al 5,376
01 MEIBEE 263 25,600 25,600 0
O AZ=2AR0IE2H XS 25,600
J| 17,920
< 2,304
Al 5,376
32228 24 N& 158,186 92,747 65,439
307 21201 A 143,186 92,747 50,439
03 QIZtHNHE2LHEX 143,186 92,747 50,439
OUZANE(BEE)AZ=2E AL 103,186
OUZANE(ZEHE)AZL=SYH S3HSAE 0
EN ZHH BH 20,000
OstNAANE (BHESE)AE=2Y A 20,000
402 RI2HX20l 15,000 0 15,000




2N
eS|

el

X ZH
S =

=X

d42Hs 243

_ d =
SN FE-SA(EA) - HRAY e HlnE2
01 BIZtt2 AL E X 15,000 0 15,000
OUEAMNE(EEE
-+ 15,000
HsEAe &5 @ RANEx ,240,336 16,081,887 A 841,551
s ,321,000
J| 595,000
Al 4,154,336
H 8,170,000
HIAZIIME AHE 6,561,000 4,764,500 1,796,500
s 1,561,000
Al 530,000
T ,470,000
401 Al HI K 201 I 6,561,000 4,764,500 1,796,500
s 1,561,000
Al 530,000
H 4,470,000
01 A& HI 6,561,000 4,259,500 2,301,500
OXFATZXHMH 3 6,561,000
s 1,561,000
Al 530,000
T ,470,000
gds dsa =4 ,450,000 3,997,000 A 1,547,000
as 450,000
T ,000,000
401 Al HIZ 2018 ,450,000 3,997,000 A 1,547,000
as 450,000
TH ,000,000
01 A& HI ,450,000 3,287,000 A 837,000
OogdsHs2 2 ,450,000
s 450,000
TH ,000,000
e My Hs ,500,000 1,700,000 800,000
Al 800,000
T ,700,000
401 AIEHIZL 2] ,500,000 1,700,000 800,000
Al 800,000
T ,700,000
01 A& Hl ,700,000 1,700,000 0
O3zdHds2 & ,700,000
TH ,700,000
02 2feldl 800,000 0 800,000
O3z disz ¢
2el2a 800,000
s s=HUddAE =4 310,000 0 310,000
s 310,000
401 A& HIZ 201 I 310,000 0 310,000




2N
P HEHE 8]
el =

X ZH
S =

=X

of 0x

=

HEAE &5 & RAES

- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
Fag 310,000
01 A&l 310,000 0 310,000
OAI& B Al 14 310,000
g 310,000
HAE KRB 1,686,933 1,038,660 648,273
201 YEt2 Ayl 221,420 192,660 28,760
01 AP 2t 2] H| 33,700 26,100 7,600
OZ2Z2HMSAIE(6HA) Bt HHESAH
140,000 = 6o & = 12€ 10,080
OG0 &Ad|
70,000 = 15004 * 280F * 33 6,300
ONMESAE A2 g 2 SIYUHE
600,000 = 53| 3,000
Oagiotdze = (N, XejMHE, st
H=2) 4,320
OS8EAIXHMEH 38 EXN UEZ 10,000
02 2224 H| 187,720 166, 560 21,160
OMSAYE ARE 44| 70,000
OME3d £ s s dIAASE
420,000& = 200 A + 12€ 100,800
ONMESAE &bl AMES
50,000 * 15004 ~ 12&€ 9,000
O¥SX N2 (stels T2 A
330,0008 * 204 = 12&€ 7,920
202 04 d| 3,600 3,000 600
01 2Ll 3,600 3,000 600
ONMESAEE RFA0H| 600,000& = 6Y 3,600
207 A SO 4| 50,000 40,000 10,000
01 24| 50,000 40,000 10,000
OMESAE 22fE JIMHMN 54 25,000
O&BIGATIME 22RAE |IAHN 249
25,000,000 = 1JH 2 25,000
401 AlEHIZ 2 0HY| 1,237,000 803,000 434,000
01 Al&H| 1,234,000 800,000 434,000
OZ2Z2HM=EANE RANES 600,000
OMAAHNOIE=ZE UMY AEZA 21,000
OF2ss & Ayds2dUudss =) &
Lo A B 21,000
OFN=2ss & AYdMs2(Not=E =) &
gotd A EH 21,000
OLSHEALE BLESE HUNGMEHEA 21,000
O2sH=2 =XUE MRXN EXNEA 90,000
OomIazs2=ssd I 80,000
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2N

=X

HM: MEHE 4
Cel: MSAE 85 @ SNES (SH9: &)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
Al 1,055,000
01 Al&H| 1,650,000 2,250,000 A 600,000
OCQIZIAAHOIEE =FAIL MM 600,000
Jl 180,000
Al 420,000
OLsH=3d 22MHEx 300,000
J| 150,000
Al 150,000
OZ2Z2HEAE HABLZA 200,000
J| 100,000
Al 100,000
OQASRE SFAIAE HHAIY 550,000
J| 165,000
Al 385,000
Mo 4 650,000 213,000 437,000
AZX[OIAE 43 650,000 213,000 437,000
TH9 L 2R Ul R (HHMHE) 646,000 209, 000 437,000
202 044l 3,000 3,000 0
01 2Ll 3,000 3,000 0
OAZX[OIANE Y =& 0H|
600,000 * 5 3,000
203 R =X | 10,000 10,000 0
03 Al 2 =& 2 = X H| 10,000 10,000 0
OMSEHAI 2H X 2 2F&H| 10,000
307 2iz2to| A 633,000 196,000 437,000
04 SIZ2ISHAAIH E & 633,000 196,000 437,000
02022 Zol=2 Ol2tEWa(LHO| OltEW S
) 60,000
OSSR 2A 2022 2= 82 A
CHal 20,000
OHM213 sHs0l2] 8=2clE0k2U 3 20,000
OHMb53 2HAIROHEOE S & &=220 EHOI
CHal 10,000
OHMP23 oo =Hl M2 A XE AHOHE 40,000
OHM573 HHEd) d=2HUHUE =W 297,000
OHMI3E JIOIEEN 824285203 20,000
OHM13al ZolAIEH dadxd 82 E=2U3 20,000
OHM143] ZalAIEE &= HISU 3 30,000
OHM93l 2oHAIEE 8= S52 HLAWS 10,000
OHM13 2LHAI X BZHS 20,000
Q2022 et aZ2EE3 &) Md=2M3aA2E0
3| 50,000
Ok o2 & d=2¢42 ia 0la SXXH 36,000




2N
CHSMY |
AZX0HHE 24

X ZH
S =

el

=X

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
dlzd |RIs ALX0HA 4,000 4,000 0
201 £B-2d| 4,000 4,000 0
01 At 22l 4,000 4,000 0
OSAHEX
2,000& = 2,0000H 4,000
HE2ME 84 8,741,243 7,678,524 1,062,719
J| 70,000
< 21,000
Al 8,650,243
deEME #4535 8,741,243 7,678,524 1,062,719
J| 70,000
< 21,000
Al 8,650,243
=1t 29 2,725,693 2,743,847 A 18,154
201 Let2d] 122,750 106,210 16,540
01 At 2teltl 68,750 57,650 11,100
Ods=a & 2,300,000& = 12& 27,600
O=F+H 234 250,000& = 12& 3,000
O8dgll 2= M& s 10,000
Odx=X2 SIOIIHAIIE SH
100,000 * 123/ 1,200
OZEFrC 213 10,000
Ogdl ds&¢et 330,000& = 153 4,950
Os7taala & 1,000,000& = 123/ 12,000
02 23224l 54,000 48,560 5,440
Odz==a & 700,000& = 12& 8,400
Od==x&d R 1,000,000& * 12& 12,000
Ods=4a =% 3,000
Od=x&gd BEg& 1,000
O=s=a g4 & TV 4E
400,000& = 12& 4,800
O 2223 400,000& = 128 4,800
Oeld A3l 20,000
202 O4dl 1,400 1,400 0
01 = LH 4 Hi 1,400 1,400 0
Ol &H
100,000& = 1 = 143 1,400
207 & O & H| 8,000 77,000 A 69,000
01 2284 8,000 77,000 A 69,000
OZHAIA 3 EtEd HREY 8,000
301 LBEXZ 2,582,443 2,550,237 32,206
09 A& HI X 28,950 27,450 1,500




DHSXE Y
CHEME =54
DAL EMS

=N

= o

HB - B (3H) - NEAY - BAS O 4t o8 il
O=d)| HMNIHERI AU ZALH 27,950
-otZEY 59 300,000& = 153 4,500
-Sg4a 29 400,000€ * 153 6,000
— &L OtLIE2 A 200,000& = 153 3,000
-~ E o 3,500
—Jl= (%01, @)
70,0008 * 29 x 153 2,100
-=80| 25,000& = 10 * 153 3,750
- A& 3| 50,000& x 4% x 153 3,000
- S AlE 2| 7,0008 * 20 x 153 2,100
OMEZHA &SHl XN&E 250,000 = 43| 1,000
Vo= - 2SESEANZ 2,553,493
(@)Fal:] 1,531,390
-Ja2 1,496,900
Z= 67,000
2= A X| 55,000
- GKZ X 51,000
f R DN | 49,000
AIJIRE 30,000
- OIREHOIY 32,200
S HA DA 32,200
AR HE 46,000
N | 33,500
(A3 55,000,000 = 5Y 275,000
- &= (B)2 45,000,000& = 10 450,000
&= (0)3 30,000,000 = 5™ 150,000
- &2=(D)2 22,600,000& = 10H 226,000
-IExE 9,600
b < Xt 40,000& = 10 » 12& 4,800
SAE 20,000& = 20 * 12& 4,800
-328 =222
21,2503 * 4A12t = 50F « 1Y 4,250
-3238 Al 130,000& * 29 = 12& 3,120
-323 ns| 130,000 * 29 = 128 3,120
-Z2SE=H| 1,200,000 = 12& 14,400
OBg= 234,779
-N&C MOlEE S 15,000
-4 282 1,997,990,000& * 11% 219,779
O3 80,000
OZddl 328,860
-&g=s=dt| 650,000 * 3/5H * 12& 273,000
- &8 X =223 | 84,000& = 35H * 19 55,860




DHSXE Y

L

=M=s g4

D UCEMSE 243

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
OsdaE #2g| 47,600
-=73 300,000& = 34Y = 3Z& 2 30,600
-=E3Z2, AIIEE EHEE 5,000
-ME 2L MHAE 1,000,000& * 12& 12,000
o=l 48,440
-SU3 66,0003 * 30Y * 44 » 28R 15,840
-2==2 900,000 * 34H * 13| 30,600
— Ml &t 200,000 = 108 2,000
Oz &&| 51,744
-cZl, FAY S 84,000 * 222 * 28 51,744
ORxdX&A 222,800
-HalYaTt TAS(s2x=H)
18,000,000& * 10& D] 180,000
-6 X 30,000,000& * 1H 30,000
-8 XAH| 200,000& * 29 * 12& 4,800
-2l18s 243 8,000
O2dSAldl 2,500,000& = 23| 5,000
OZEAIEZ &MYl 72,0008 » 4% * 10 2,880
405 Ko SHI 11,100 9,000 2,100
01 JHMY =2 ZF S H 11,100 9,000 2,100
OXZ=Z OHAFXlI HIOIS 1,900
Og=A HECIA 200,000 = 3504 7,000
OAMo=E2H HASI ¢ 2,200
otaIEt 29 1,647,526 1,650,208 N2,682
201 et | 8,400 17,080 A 8,680
01 At 22l ] 4,800 6,000 A 1,200
ON4E=4L 29| 150,000& = 12& 1,800
Oa=4 MaEAE 22 250,0008 * 128 3,000
02 =294l 3,600 11,080 NT,480
Odx==a 2HY & TV=dlg S
300,000 = 128 3,600
202 04 d| 1,500 1,500 0
01 2L Y| 1,500 1,500 0
Oz &sd 2&EZ22& ¢l
250,000 * 2 * 33| 1,500
301 et M= 1,626,626 1,628, 128 A 1,502
Vo= - 2SESEANZ 1,626,626 1,628, 128 A 1,502
ool 976,800
-Ja2 960,000
-Ex4 9,600
ol < Xt 40,000& = 10 » 12& 4,800




M MEXE 0
AN HEHE 24

chel: dwelEXS B (ol @)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
£k Xt 20,000 = 20 * 12€ 4,800
- SE S| 600,000& = 128 7,200
OBg= 128,510
-&C MHEES 11,250
-4 282 1,066,000,000& * 11% 117,260
O8 &3 50,000
Ozdt| 236,736
—-g==& 710,000€ * 24¥H = 12&€ 204,480
- &8 X Z2&H| 84,000& * 24 = 16¥ 32,256
Osdaseyl 42,960
(@RTE==3] 28,200
Otiglsd 40,320
-3 =&Yl 84,000 * 249 x 20 40,320
ORed=X& 119,200
-3 YA ZAZ 70,000
-8 LI 30,000
-8 X34 200,000& * 2% * 123 4,800
-2l EM A&
200,000& * 6Y¥ = 12& 14,400
O&AAHA EAHI 1,500,000& = 23] 3,000
OZEAEHE ESH0H| 150,000& * 63 900
405 XHo&HF S HI 11,000 3,500 7,500
01 JHAY 2 E F S H 11,000 3,500 7,500
O=A HEe2IA 7Y 200,000& = 30K 6,000
OHMel Dl 2 5,000
qTC 29 475,010 453,880 21,130
201 et A | 38,980 38,900 80
01 A2 22| 32,280 32,080 200
ONg=A 29| 12,600
-8 2= 450,000 = 2xH ~ 12& 10,800
—de=mA MEADS 2
150,000& = 12& 1,800
Od==xte dxta 900,000& = 12& 10,800
O&d=Xte oloOIIHAIIE &H
50,000& = 12& 600
O=E& AIEE 690,000& = 128 8,280
02 3524t 6,700 6,820 N 120
O TAINA 22 200,000 = 12& 2,400
ONfE=A I & TVdlE S
50,000& * 12€ 600
Odx=Xte KXY 100,000& = 12& 1,200
OHYH 3 bl 2,500




M MEXE 0
AN HEHE 24

te: delEd=E 43t (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa HDE2
202 (4] 1,000 1,000 0
01 ZLHOt 1,000 1,000 0
OHElEE A&EZ2E oft|
100,000 * 29 = 53| 1,000
301 dEtE2dZ 435,030 411,880 23,150
Vo=t - 2sSESEA2 435,030 411,880 23,150
Ool2| 238,800
-Ja2 237,600
-A=s23H| 100,000& * 120 & 1,200
(@)==-K=1 36,110
-~ MAEE R 3,000
—401 282 301,000,000& * 11% 33,110
OEAaZ3 18,000
O=&t| 52,680
-g=&dtl 710,000 *= 5% = 12& 42,600
- &8 XE&H| 84,000 » 5H x 24 10,080
Osdg37ayl 6,800
o=l 8,040
Ozl &l 84,000& ~ 5% 30 12,600
Ofax=dx=X&A 61,000
-3 gaxt ZAZ 600,0008 * 5 * 73 21,000
-8 LI 40,000
&2 (A3) 25,000,000& * 14H 25,000
&= (83) 15,000,000& * 1H 15,000
O EAH| 1,000
AAE 2 404,000 187,175 216,825
308 X SHAMSOIHA 244,000 187,175 56,825
N 3IN2SHUHSZEAHAE ALY 244,000 187,175 56,825
OARE 29 244,000
403 XtXISHH S K201 160,000 0 160,000
02 SISO SHA =5 e A 160,000 0 160,000
OMBE =AM JH 252 160,000
SAH 29 50,000 0 50,000
307 212t01 & 50,000 0 50,000
02 DIZtZAAMEE X 50,000 0 50,000
Os4MHt 29 50,000
SAE AEX DY 29 5,000 25,000 A20,000
307 212t01 & 5,000 25,000 A 20,000
02 AI2tAAMAIEE =X 5,000 25,000 A 20,000
OgsA4d dalny 29 5,000




M MEXE 0
AN HEHE 24

te: delEd=E 43t (&2 &)
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
ESambs E=PNE] 280,000 280,000 0
308 AXISHXSO0IH 280,000 275,000 5,000
08 WEII2MstE = 280,000 275,000 5,000
Ou=EXad Nxdlzs 2Xx3 240,000
Odold 072 Z&d N3 30,000
OSNSESLE(2Y) &4 28X XS
5,000,000& * 2J4 1 10,000
Mz =28 & &It 3,014,014 2,218,414 795,600
202 04| 4,000 4,000 0
01 2LHOHI 4,000 4,000 0
OMEsSXE Hd2=&0id|
(600,000 * 5% )+(1,000,000& * 1H) 4,000
203 R =&Y| 2,000 2,000 0
03 Al =X H R =X Y| 2,000 2,000 0
OMetEUa Hzl £ MESXE RFEY| 2,000
307 212t01 & 3,008,014 2,212,414 795,600
02 DIZtZAAMEE X 1,742,700 1,007,000 735,700
OHM233 2aHAIAM=US OHEl 610,000
OHM61e A0 H=USE &I XN 435,100
-SO0MAE S 220,000
-GS OMAE =Hlbl 177,100
—AAUAT HH2 L A 38,000
OZQMAEUE =6 24 XA 388,800
OM1033 d=HM=03 &It XA 10,000
OM518 =2AEMSUHE &EIF XA 5,000
ON=U3 L&aX A=z XN 36,000
OQUCIEMNE JASSHAH XA 106,600
-3ASSsHA XA
2900 E=SHHM + 2,000,000 58,000
-JASSHA SF0IAF 234 A&
2700 =AM + 150,0008 * 12& 48,600
OaUNsstn wilE=s d3Us It XA 10,000
02022 2ol AI M A AlatAl & X0l &
A X 7,200
OIt+&EINE 229Hl X 15,000
Ostedd=a 29H & 15,000
OSLAM=ESE S9H K& 17,000
OXdoMex=a & M= 294 X
el 15,000
OgdgollIgs 44U A& 72,000
B oIAHHYBPESIHIEX 1,265,314 1,205,414 59,900
OM=E3 AMR= 29| 71,800




M MEXE 0
AN HEHE 24

& deEMSE 45 (&)
= _ — d =
SA - B (SA) - MRAY - BYS e 2
OHMS2E M= NEF2SH 20,000
OXM=3 ARA dX= 40,000
OM=sz & M AR &g 26,000
OME3 A= A QHH(9Y) 439,390
OM=zE M= HF Scl=4| 9,660
OM=3 AMR= A7 2 2AH (1Y) 35,478
OM=zl delERX 24l 554,229
OM=2 M= 52 HHMAE WS 28,789
OM=3 HARSARA Q1A 39,968
Jtasa AZXA BSgALY 140,000 120,000 20,000
J| 70,000
= 21,000
Al 49,000
308 XX EHSOIA 140,000 60,000 80,000
J| 70,000
= 21,000
Al 49,000
08 WSII20HetE = 140,000 60,000 80,000
O AZXA BgAY
70,000,000& * 274w 140,000
J| 70,000
= 21,000
Al 49,000
HY2LZH (M) 78,040 74,920 3,120
=& Hl 78,040 74,920 3,120
Jl234 78,040 74,920 3,120
201 LEr2A | 39,040 35,920 3,120
01 Al2 22l 39,040 35,920 3,120
OJIZAe &l 7,700
OSAMI gxtz 260,000 = 2CH = 12& 6,240
OJIEt==EH| 10,300
Oo0f2t & S22 S4tl
740,000 = 209H 14,800
202 Oddl 33,600 33,600 0
01 = LH 4 Hi 33,600 33,600 0
OuUs8 JI=2gRFA 0o
140,000& » 20 » 12&8 33,600
203 YR =&l 4,200 4,200 0
04 FENSELR=LH 4,200 4,200 0
ORNME2Y g2l 350,000& * 123 4,200
204 MR F Y| 1,200 1,200 0
01 MR ZH 1,200 1,200 0
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